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QUESTION 1

What is one of the purposes of Tomcat in the IBM Cognos BI environment? 

A. Acts as a Java servlet container for the report and batch report services. 

B. Monitors the dispatcher and all user requests are lost upon failure. 

C. Monitors the IBM Cognos BI service and restarts the service upon failure. 

D. Acts as a Java servlet container for the presentation service. 

Correct Answer: A 

 

QUESTION 2

From within IBM Cognos Connection, what mustan administrator deploy to move an entire IBM Cognos BI application
into a new and empty environment? 

A. Content store 

B. All folders within Public Folders 

C. Notification store 

D. Content manager 

Correct Answer: A 

 

QUESTION 3

Below is a partial diagram of the processing that occurs when a user submits a request for authentication through the
log on page in their browser. 

Which of the following components represents X? 

A. Content store 

B. IBM Cognos Access Manager 

C. Query database 

D. Authentication provider database 

Correct Answer: B 
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QUESTION 4

What must the administrator do to set up the sample audit reports that come with IBM Cognos BI? 

A. Create a separate data source connection to the content store. 

B. Set up an audit databaseand configure log messages to be sent to the database. 

C. Set up a log file and configure log messages to be sent to the file. 

D. Create a Framework Manager model using either a database or flat file as the data source, and then publish a
package. 

Correct Answer: D 

 

QUESTION 5

To administer the contents of namespaces, the administrator must be a member of which predefinedrole? 

A. Report Administrators 

B. Server Administrators 

C. Directory Administrators 

D. System Administrators 

Correct Answer: C 

 

QUESTION 6

Which statement is true about the definition of the Application tier? 

A. The Application tier hosts the dispatcher and content manager that reside in a servlet container. 

B. The Application tier hoststhe dispatcher, which includes the IBM Cognos Application Firewall and Access Manager. 

C. The Application tier hosts the BI server and the content store. 

D. The Application tier hosts the content manager, which contains data such as a report specification,IBM Cognos
namespace, and so on. 

Correct Answer: B 

Below is a partial diagram of the processing that occurs when a user launches saved output in IBM Cognos Connection
and views it in IBM Cognos Viewer. 
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At the level of the dispatcher, which of the IBM Cognos BI services is used to process the request? 

A. Report service 

B. Presentation service 

C. Batch report service 

D. Delivery service 

 

QUESTION 7

When a namespace is no longer used for authentication, what must the administrator do to permanently remove itfrom
the content store? 

A. Delete the namespace in IBM Cognos Administration, and then delete it in Cognos Configuration. 

B. Delete the namespace in IBM Cognos Configuration only. 

C. Delete the namespace in IBM Cognos Configuration, and then delete itin IBM Cognos Administration. 

D. Delete the namespace in IBM Cognos Administration only. 

Correct Answer: C 

 

QUESTION 8

Which service is responsible for generating an HTML page? 

A. Job service 

B. Report service 

C. Delivery service 

D. Content Manager service 

Correct Answer: B 

 

QUESTION 9

Which of the following is true regarding the IBM Cognos BI gateway? 
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A. The gateway can be configured to send requests directly to the Content Manager. 

B. For failover, the gateway can be configured to know the location of multiple dispatchers. 

C. When more than one dispatcher is available, the gateway can automatically balance the load of requests by sending
them to any dispatcher. 

D. If the gateway is installed on a machinethat is separate from where other IBM Cognos BI components are installed,
the services for the gateway must be started first. 

Correct Answer: B 

 

QUESTION 10

When the default active Content Manager fails, which of the following occurs? 

A. The system automatically activates all standby Content Managers, and spreads the load of requests based onthe
Weighted Round Robin load balancing mode. 

B. The system automatically activates all standby Content Managers and spreads the load of requests across them all. 

C. The system automatically switches to a standby Content Manager, and requests are directedto it. 

D. Users are prompted to rerun failed requests on the initial Content Manager once it is back on line. 

Correct Answer: C 

There are 2 load balanced report servers. 

What would an administrator set the processing capacity on Computer Yto? 

A. 1 

B. 2 

C. 4 

D. 8 
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